C:# Reihenfolge der Operationen Name:

L 6se jede Aufgabe. Antworten

1) 6+6(49:7+10) 2) (3+64:8)+9+13-10 X
2.
3.
4.

3 10(7+36:6)+18-10 4) 3¢4(9+8-4) i
6.
7.
8.

5 (7+15:3)2+7 6) 4¢2(18-10+13-6) .
10.

) 9+12-9(7+15:5) 8 9(3+13-5)+8

9 6(6+36:9)+42:7 10) 6+36:9(9-5+6)
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Reihenfolge der Operationen Name:

L dsungsschltissel

L 0se jede Aufgabe.

1) 6+6(49:7+10)
6+6+(7+10)
6+6e(17)
3617
612

3 10(7+36:6)+18-10
10«(7+6)+18-10
10-(13)+18-10
130+18-10
148-10
138

5 (7+15:3)2+7
(7+5)e2+7
(12)e2+7

24+7
31

) 9+12-9(7+15:5)
9+12-9+(7+3)
9+12-9+(10)

9+12-90
21-90
-69

9 6(6+36:9)+42:7
6e(6+4)+42:7
6+(10)+42:7

60+42:7
60+6
66

2) (3+64:8)+9+13-10
(3+8)+9+13-10
(11)+9+13-10

99+13-10
112-10
102

4) 3e4(9+8-4)
3e4¢(17-4)
3¢4+(13)
1213
156

6) 4¢2(18-10+13-6)
4¢2¢(8+13-6)
4+24(21-6)
42+(15)
815
120

8 9(3+13-5)+8
9+(16-5)+8
9.(11)+8
99+8
107

10) 6+36:9(9-5+6)
6+36:9¢(9-30)
6+36:9+(-21)

6+4.-21
6-84
-78

Antworten

612

102

138

156

31

120

-69

107

66

10.

-78
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C:# Reihenfolge der Operationen Name:

L 6se jede Aufgabe. Antworten
31 -69 156 102
612 120 138 107 1
1) 6+6(49:7+10) 2) (3+64:8)+9+13-10 »
3.
4,
5.
6.
3 10(7+36:6)+18-10 4) 3e4(9+8-4)
7.
8.
5 (7+15:3)¢2+7 6) 42(18-10+13-6)
) 9+12-9(7+15:5) 8 9(3+13-5)+8
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